
Postutale 2

Di  Do = Heehee! Yawn!

Di Do = De

A constant absurdity (denoted by ‘Heehee!’) in their/our discourse and a constant absurdity in our/my discourse are equivalent. A constantly accepted statement in their/our discourse (denoted by ‘Yawn!’) and a constantly’ accepted statement in our/my discourse are equivalent.

There is no pair pi, po of statements, the one theirs/ours, the other ours/mine which are equivalent to each other, except in the case where pi = Heehee! and po = Heehee!, and the case where pie = Yawn! and po = Yawn!

This postulate states that the two subsets or sublattices have only two common elements, constant absurdity and constant acceptability. This indicates a rejection of the idea that their/our discourse (language) is equivalent to our/their discourse (language). This postulate could be a lot weaker and still be effective.

